
10 minute arithmetic 
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2.1 + 0.03 =

5234 + 310 =

9 x 2 x 4 =

495 ÷ 5 =

34 x 18 =

300 + ? + 9 =339

1.57 x 100 =

916 ÷ 10  =
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531 ÷ 3 =
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3.5 x 5 =

__ - 367 = 231

4.1 - __ = 3.9

2000 – 422 =

x 9 =

+   =

- =

40% of 120 =

of 24 =

4
3

7
15

5
10

3
4

2
12

1
6

56.71 x __ = 567.1

2

3
x 

9

11
= 



10 minute arithmetic 
5% = 0.05

40% = 0.4

2.1 + 0.03 = 2.13

5234 + 310 =5544

9 x 2 x 4 =72

495 ÷ 5 =99

34 x 18 =612

300 + 30 + 9 =339

1.57 x 100 = 157

916 ÷ 10= 91.6

43 = 64

531 ÷ 3 = 177

21 + 6 x 2 =33

3.5 x 5 = 17.5

598 - 367 = 231

4.1 – 0.2 = 3.9

2000 – 422=1578

x 9 =    
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40% of 120 =48

of 24 = 4
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10 minute arithmetic 2.01 + 0.6 =

5623 + 500 =

1 x 2 x 9 =

1612 ÷ 4 =

62 x 41 =

700 +40 + ? =742
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27.2 x 100 =

1.72 ÷ 100  =

798 - __ = 367

13 =

1982 ÷ 3 =

31 - 6 x 6 =

2.6 x 3 =

34 – 10 = 22 + __
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2.01 + 0.6 =2.61

5623 + 500 =6123

1 x 2 x 9 =18

1612 ÷ 4 =403

62 x 41 =2542

700 +40 + 2 =742
2
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10

0.89 = 
89

100

27.2 x100 =2720

1.72 ÷ 100=0.0172

798 - 431 = 367

13 =1

1982 ÷ 3 =660r2

31 - 6 x 6 = -5

2.6 x 3 =7.8

34 – 10 = 22 + 20

1000–262= 738

x 9 =   

+   =    

- = 0

50% of 300 =150

of 49 = 7
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